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1. An electromagnet is a device that uses an . Two bells and a battery are used to build a

electric current to magnetize an object. Students
build an electromagnet with a metal rod, a
battery, and insulated wire, to see how many
paperclips it can pick up. The students repeat

tlmm_’_;&@ (52.E)

CURARARE

gation

A. to test different variables Not t\namﬁmﬂ aﬂj'ﬂmmj
B. to make a diffeljent hypothesis:= CO%;;%E,{;Q
C. to test theyalidityof the results

D. to make the experiment more funNot suenhSe

circuit.

Wh 'Coﬁéffisio;ytan be drawn from the
diagram of the circuit? (5.2.F)

A. The circuit is complete and the bells I
ring. ‘

B. The bells will not ring because the circuit is

C. The bells will ring!ouder because there are
two.

D. The bells willring because they are
connected to a large battery.

Wire 1 Wire 2

BATTERY

(What change needs to be made to the electric
circuit té_make the motor spin”

F. N%ing needs to be changed.

G. Wire 1 needs to connect to the motor_.l\/ _

H. Another battery needs to be added "y, 5\v4e
J. Straighteh the wire so the electricity will

flow goh easily. fat Move ¥hrovan

tuvead Wi

Which answer choice bes lains awhat
happens when youdurn on a light switc

Open and closed circuits are used all around us.

F. The(switch closes the circuifallowing

electricity to flow through and turn on the
light.

G. The switch O&HS the circuit allowing

electricity to flow through and turn on the
light.
H. The switch provide ner
turn on the light. Podee(V)
J. The switch makes the light

needed to

electricalenergy EXCEPT—,

e o ave. o
A. Turn off the lights when you leave the room.\/
B. Line our clothes outside.

C. Open the shades instead of turning on lights. \/

A
bri hter.r"‘ug'@%’?
. All of the following are ways tq_conserve )52

[

D. KWBQ while you sleep. ){
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8. Students create three different circuits in an
investigation.

) )

CIRCUIT 103‘?5‘/

\
-~

7. Switches are used in circuits to control the flow
of electrical energy. Below is a picture of a
knife switch that is open.

plastic
metal bar i handle

plastic bottom

The knife switch can be connected to a battery
and a buzzerséoﬁgroduce sound. Which statement
h

CIRCUT

MWhich circuits will light the bulbs? >

circuit 3 o,i(fy
circuit ¥ only
circuits ¥ and 3

F.
G.
H.
J. circuits 1 and 3

9. The picture is a main power switch. When the
lever is in the©ON position electricity can trave]>
to areas it is connected to. Thi :
happens because ---- 7 Nu

)

. M.

A. The ON position creates an opén

=

best explains@vhy the knifewitch has a metal > circuit.
(bar?) (5.2.F) B. The ON position creates &'@@@cuit. |
C. The lever providégenergy for the circuit )T
A. Closing the knife switch williCompleteithe D. The lever is a conductor for the circuit. =~
;‘é%%c‘i’;‘fause metal is 2Z00d conductop of 10(Which/of the followingan electricity produce?>
B. Closing the knife switch willGomplete the bt Tk male
circuit because metal is a gooddinsiator of i g pu 0
electricity. ' : ' S
C. The metal bar will make the buzzer 13(der. ? ;?atf't‘g;‘:;’?'e(
D. The metal bar createg(sound. Sl ove
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